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 Paper VI — QUANTITATIVE TECHNIQUES FOR BUSINESS DECISIONS
Time : 3 hours

Max. Marks : 75

SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions.

1. What is Probability?

2. What is hypothesis?

3. Write a short note on chi square distribution?
4. What are the assumptions of F-test?

5. Define correlation.

6. Give outline of simplex method in linear programming.

7. What do you understand by transportation problem?

8. Write short note on game theory.

9. Write short note on decision theory.

10. From a bag containing 10 black and 20 white balls, a ball is drawn at random. What is the probability that it is black?

11. Intelligence test on two groups of boys and girls gave the following results:

	
	Mean
	S.D
	N

	Girls
	75
	15
	150

	Boys
	70
	20
	250


Is there significant difference in the mean scores obtained by boys and girls?

12. From the following data obtain Y on X regression equation

            X
6
 2
10
4
8

Y
9
11
 5
8
7
SECTION B — (5 × 5 = 25 marks)

Answer any FIVE questions.

13. Briefly explain the properties of Normal Distribution.

14. State the uses of chi square test.

15. 200 digits are chosen at random from a setoff tables. The frequencies of the digits are as follows:

	Digit
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Frequency
	18
	19
	23
	21
	16
	25
	22
	20
	21
	15


Use chi square to assess the correctness of the hypothesis that the digits were distributed in equal numbers in the tables from which they were chosen.

16. The correlation between a general intelligence and school achievement in a group of children from 6 to 15 years old is 0.80. the correlation between the general intelligence test and age in the same group is 0.70 and the correlation between school achievement and age is 0.60.  What is the correlation between general intelligence and school achievement in children of the same age? Comment on the result.

17. A departmental head has four subordinates and four tasks to be performed. The subordinates differ in efficiency and the tasks differ in their intrinsic difficulty.             His estimates of the time each man would take to perform each task is given below in the matrix:

	Subordinates
	Tasks

	
	I
	II
	III
	IV

	A
	8
	26
	17
	11

	B
	13
	28
	4
	26

	C
	38
	19
	18
	15

	D
	19
	26
	24
	10


How should the tasks be allocated to subordinates so as to minimize the total man hours ? (Assingnment)

18. Maximize
 z = 22 x + 18 y

Subject to constraints:

3 x  +  2 y  <  48,   x + y < 20   and    x > 0,     y > = 0  

19. A bakery produces a certain type of special pastry at a total average cost of Rs. 3 and sells it at a price of Rs. 5. This pastry is produced over the weekend and is sold during the following week: such pastry being produced but not sold during a week’s time are totally spoiled and have to be thrown away. According to past experience the weekly demand for these pastries in never less than 78 or greater than 80. You are required to formulate action space, payoff table and loss table.
SECTION – C (2 × 15 = 30 marks)

Answer any TWO questions

20. State the procedure of testing hypothesis. Write short notes on two tailed and one tailed tests of hypothesis.

21. The three samples below have been obtained from normal populations with equal variances. Test the hypothesis that the sample means are equal 

	8
	7
	12

	10
	5
	9

	7
	10
	13

	14
	9
	12

	11
	9
	14


The table value of F at 5% level of significance for v1 =2 and v2 = 12 is 3.88.

22. Obtain the initial BFS to the following transportation problem by VAM:

	
	D1
	D2
	D3
	D4
	5
	   .a1

	A1
	5
	7
	10
	5
	3
	5

	A2
	8
	6
	9
	12
	14
	10

	A3
	10
	9
	8
	10
	15
	10

	.b1
	3
	3
	10
	5
	4
	25


23. Solve the following game

	
	                                    Player B

	Player A
	3
	2
	4
	0

	
	3
	4
	2
	4

	
	4
	2
	4
	0

	
	0
	4
	0
	8
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